s4nofoL P suoisiaeid—(Pd4O0+8)dg

L0/LO
L0/90
L0/S0
LO0/+0

(oln zl) 900z/90/82

£0/€0

— L0/zZ0

L0/ LO

—— 90/0¢
90/62Z o ‘OlN ZL D suopiisod

00°'L =P
0818\ SiASdd S8p [ Jnop

JONVYL ‘siod ISdI/AdNT

sylsusg

NG

)

3

NOL

%

30¢  3SL

301 35

N

NOZ

¥4 D S8YoD| suo|pg

L

D

vl

NG

(.

s

=1

NOL

o,
3
{

3
)
-

NOZ

(01N 81 ‘90/6¢) Y QL+ O seyop| suojpg
302 mwp\m}\f \um S Mol MGL chu
i NENRERS
AT TR |,
SN
[T~

(01N 9 ‘90/6Z) Y 8L+ D sayop| suojpg

30¢ 361 301 El] 0 S MOL MS1 MOT
m n 7 03
F..!) Q.
I NS
/ &
Bl 33
ﬁ ‘IVL 1 NO
L~ 3
it
NOCT

H.M//ww/ NG
(OLN 21 ‘90/0%) Y 8y+r O s8yop| suo|pg

1

30¢ uw,.,mlm\,‘ ~mm 0 S MOL MSE M Ncw
L YRS
k.\<.A \( ¢ . M:«Nv NOt
s w@

Pad

NOZ

RO |
3
{

:
ot

NOZ

~~
O
'_
oD
N
©
O
~
(o))
N
~—
e
ﬁ_
N
+
iy
O
»
®
<
O
o
»
c
o
o
m

30¢ ELS

I

L

]
]
0
)
=
=
=
~

~_h
s

O, |
[T

(01N 00 ‘90/6T) Y TL+r D sayop| suo|pg

\?\
gn
.




sJanof0| © suolsiABId—(0d4O+8)dSa 3DONVY4 'Siiod ISdI/ANWT

L0/G0
£0/60 £0/%0
£0/80 —— 20/50
L0/L0O — ¢£0/20
L0/90 ——F—F ¢20/10 S| ‘Ol1lNn Z1L O suonisod

00°L = P : ®suaQ
(01N Z1) 900Z2/90/8Z : O®18N SIABJ4 S8p [ Jnop

\g
. ol
1

7 IR |,
oo v

[ 1 Tl

(01N 9 ‘£0/Z0) Y 06+r D sayop| suojpg

4,

035 301 3
;‘ 7 03
\ A.wl) 0 NG
&
k.\ﬁA \( lo— uf ! M)«
> » - b NOI
~— \.\L\
y
NOZ

w/ NG}
(LN 8} ‘£0/10) Y 8L+ D sdYdD| suojog

{
AR
7 RO
I |
[T,

(01N 9 ‘20/10) Y 99+ D saydD| suojog

el

30¢  3G) 301 35

S AENARN)
k\xA

JELEO,
xn v |
(LT

(01N 21 ‘£0/Z0) Y 96+ D S3yoD| suojog

o
0
=
]
=
n
=
~N

302 MNWIWW .,mm 3
A
A7 TRE R
o \
Qs w@

o
n
=
[S]
=
n
=
~N

L
]

NOT

302 EL 3014 El S MO} MG} MOT
m 7 + 03
yMLﬂ Fx!) 0.
) X M\.« NS
'

NOJ

\..?\
A

:
L)
e

NG}

3
3
[

(0LN 21 ‘20/10) Y ZL+r D s8ydp| suojog

30¢ 361

r

L

w
]
©
)
=
=
=
~

~_h
s

O, o
ks%//.m.w NGJ
\“ NOZ

09+ D SaydD| suo|og

6
4

\?\
¢

3
L)
o

)—\l\i.
,_—-r~l

(210 00 ‘20/10)

e



